UTH—UF B JISTT 2023—24

per — 10th
farg — wmfore fasm
3Gy — 3 gue 15 e quries — 80
1. Sga¥d BY JAPUR —
EoRcl SEEES JIHHR gfarera
REE 32 40
PEEEL] 38 475
3. | SO / St 6 75
4. | Bl /Hifotdrd 4 5
JRT 80 100
2. gl & JHRAR JHYR —
. Ul B UBR Ul Dl | 3D % 3D gicrerd giderd | |WIfdd
9. d@ | ufd U (it w1) | Geei@n) | Y
1. | xS 15 1 15 18.75 29.41 22
2. | Rag = 7 1 7 8.75 13.72 14
3. | SfcreTegTRIcAS 10 1 10 12.50 19.61 30
4. | THARTHD 12 2 24 30.00 23.53 7p)
5. | TrdSTR 4 3 12 15.00 7.84 36
6. | MduTH® 3 4 12 15.00 5.89 51
IRT 51 80 100 100 195 fae

fqehed oAl : Woe | T T H ¢

3. v T &1 PR —

.. fawg avg 3p¥R | yfderd
1 | IRY H Iegare &I 3y 4 5
2 | YRd H Igar 4 5
3 | qHUselid fdeq &1 g5 4 5
4 | SNERTTHROT BT YA 4 5
5 | ggv1 Awpld 3R smyge g 4 5
6 | I AR fahr 3 3.75
7 | 99 3R g=uoig I 2 25
8 | Slel A 3 3.75
9 |®fN 3 3.75
10 | QST T Sofl SEH 4 5
11 | fafe=tor e 2 25
12 | TSR QrfIdReT dl Siad Y@ 3 3.75
13 | 7 BT AN 4 5




2| b kh—bak

(D€ (D1 (1 bk ¢ llsdbkolle RIPAE | 61

(D (D1 Rlbb| | 81

(Dz (D1 blndlh & kbd[w | Ll

Dz | (D1 (D1 (D1 Bb GP(lpnly | 91

(D1 (e (D1 Phb Gl M kR Rl | 6L

(D€ (D1 blbhhk | ¥l

(D1 (Dz (D1 RIpEIR (@ 1Bk | €L

(D1 (e AlEay bblin (b llsdbiolste kI | 2L

(D1 (D1 LIRS lnlkblb] | LI

BRIBR [I0® D ok | 0L

(1€ e | 6

(D (D1 bBRIBR RIn | 8

(D1 (D1 LRIRR blokeb e bb | /

(D1 Dz Bldp| e BRIBR | 9

(Dz MO rp® deplhle ae Rk 05k | g

(D1 (D1 (1 | (D1 bk 1o lablpgle | ¥

+(Dg (D1 lbbb I bab| Phbr|Psakh | €

(e (D1 (D1 bIbXl b Dalk | 2

(D kb I blbSl b hidk | |

bpjtojgjie / bihiplIs Ribbie LIS BleB he /BlbE RA3D &
blSh| wlo|lklk  — Rkp| 0L — kb




B ¢ jaf, LR @ 2ie leb L@ ok, L i@ Mlb @ Goue —2l howh) GYDIIC G & BRI kb, b B, SR — Ll b lowh

(29

(08

(2)9

(9ot

(99

(D1

(WL

L) 1

€2)7%

(9)9

(8)8

Ll
(e Aplle 1bblkhd | 2T
(D1 (D1 (Dz (D1 ltedblolate RIPAlk e laddlpab | 12
Dy (D1 Bl age 15k | oz




ATl TR, 2024

Secondary Examination, 2024
TIAT UA-UF
Model Paper
v — AMSTH—fa=m
Sub : Social Studies
defl : 1041
Class : 10™

T ;03 gve 15 fAAe quTieh : 80

et & ford am= fAder —

1

2

3

N

. RIETft FIueH UM U U W AG difarda: o |

. I U B BRAT A © |

. ISP U B IR &l Mg IR YRAdT H & ford |

. R/ gl d R @vs g, S 91 & SR U A1l B o |

U BT IR foIa | gd U BT A A fored |



Yrg — H
Section- A

J&JS YT (Objective types Question)
i) o fdva gg & YHATT bd 8g 7
) 1914 9) 1918
dq) 1929 T) 1939
When did the First world war begin?
A) 1914 B) 1918

C) 1929 D) 1939

ii) IRETH FAWE BT -qfed fba fbar ?

) HBIAT I §)  UNGR deotd Ucd

W) Wa g T) I IoE uNE
Who led the Bardoli Satyagraha ?

A)  Mahatma Gandhi B) Sardar Vallabh Patel

C)  Bhagat Singh D) Dr. Rajendra Prasad

iii) 919 B goF W T 2 ?

3) o are 9 o ERUled
W) HEHA I Q) g
Steam engines are related to ?
A)  James Watt B)  James Hargreaves
C)  Michael Wolf D)  Aristotle

iv) 1780 H UHIRIT ST Tole Ufdr o ?

a) < q)  ArdRe

W)  HR¥e 3) aifv®
The Bengal Gazette magazine published in 1780 was ?

A) Daily B)  Weekly

C)  Monthly D)  Annually



V) MRd & &9%el BT fhad Tferd 91T UeR) &4 & Iidifd omar g ?

3) 43 g q) 27 i
|) 30 yfcrerd ) 9 ufdaerd
What percentage of the India's area comes under the plateau region?
A) 43 Percent B) 27 Percent
C) 30 Percent D) 9 Percent

vi) aR%sT arer Rord Rerg 8 —
) ORI q)  HAEUQY
) NIoTReIA T)  IH
Sariska Tiger Reserve is situated in -
A)  Gujarat B) Madhya Pradesh
C) Rajasthan D)  Assam

vil) YRT BT AT & Saarg § favg & wore € —

&) gl 9 |

|) AR T)  den
India's place in the world in the production of sugar is -

A)  First B)  Second

C)  Third D) Fourth

viii) f=forRaa & & 5ol aRdg+ &1 UaR 2 —

) ASd uRgsd §) o gRgsd

W) RS q)  HELT uRaEd
Which of the following is a type of water transport -

A) Roadways B)  Railways

C)  Pipelines D)  Overseas



ix) Rfgel fod <9 & o™ 7 2 (1)

3  dfesraH §)  sireler
|) AR 3) e
Sinhali 1s the official language of which country?
A) Belgium B)  Sri Lanka
C)  Netherlands D)  Nepal
X) WAL B A T | IOl AR B HET 7 — (1)
) 21 ) 20
b)) 22 q) 24

The number of languages recorded in the 'Eight Schedule' of the constitution is?

A 21 B) 20
Cc) 22 D) 24

Xi) 2011 HI STRVET & AR AR BT folfgurd g ? (1)
) 929 q) 943
g) 919 <) 939

The sex ratio of India according to the census 2011 is ?

A) 929 B) 943
C) 919 D) 939
Xii) STH | I IgOT FATST UTST BT FLRIH © ? (1)
3)  BIYIRM q) g H8RIS
) dI3R. IrHEdN 3) SarfaEr Bl
Who among the following is the founder of the Bahujan Samaj Party?
A)  Kanshi Ram B)  Sahu Maharaj

C) B.R. Ambedkar D)  Jotiba Phule



2)

Xiii) Ush a%] BT FABIN: YThfdd Ulhar | Idre b & & fafafer 8—(1)
) UrRIH® q) fgda®
)G EIRED ])  Sudd a4l

Production of a commodity mostly through the natural process is an activity of

which sector -

A)  Primary B)  Secondary
C)  Tertiary D)  All of the above
xiv) 0 & MyaIRe Hal H wfiel F8l & — (1)
) d® 9)  WEdR gfEfar
) WEPR Q) T B T
Formal source of credit does not include -
A) Bank B)  Cooperatives
C) Money lender D)  None of these
Xv) RIS AR W qHd Fdt o [eiRa oxar g ? (1)
&)  W.T.O. 9)  UN.O.
¥) R.B.IL 7))
Who determine the rules related to interrational trade?
A)  W.T.O. B) U.N.O.
C) RB.L D)  All these

Fill in the blanks:

i) 953 H UBell HUST el H o | (1)
The first textile mill was established in Bombay in ...........cccc........

ii) AR THID B AED oo 2 (1)

.................. is the author of the book Gulamgiri.



Crude O1l isanon .........ccuueueeee. resource .
iv) fafa= <= @ g RER I IR N THIHRT B Gihar ....... gl (1)

............. is this process of rapid integration and interconnection between different

countries.

v) BRI Jrdbrell &1 &1 T & TR A B (1)
Shiromani Akali Dal mainly belongs to the state of ....................

60 D I gomelt § sifaw wifed Sar & fafRa @ 2 (1)
Ina...coeeees system of governance the ultimate power lies with the people.
vii) STATERAT &S Td A oo DI AEH ART & HAR BaT B A | (1)
Jawaharlal Nehru proudly proclaimed the ............ as the 'temples of modern
India'.

STCTTEIRIHD U : 77+ U] & IR Ueh Iea 3ffdl Ueh Ufdel H IO |

Very short answer type questions : Answer the following question in one word or

one line .

i) TR FIT 8 ? (1)
What is Begar ?

ii) FelTS wreet @ar § ? (1)
What is Fly shuttle?

iii) RafivT S+ &1 sifdwpR fohas famam ? (1)
Who invented the spinning jenny?

iv) ReR & faf= v & =W faRag ? (1)
Write the names of different organs of the governement ?

v) qUT aReIT ¥ 31 9T HHS © P (1)
What do you understand by varna system?

vi) IS i @l AT 9 g1 g i sfdfed &ear 7 2 (1)

Who allots accreditation and election symbols to political parties?



vii) F&He ERE] TG Bl GRATT PHIFSTY ? (1)
Define gross domestic product?

viil) ¥ dHfT RFeT PRER b 3 31fdd <20 § 8, R dedl 8 7 (1)
What are those companies called which do business in more than one country ?
ix) AR gRIoiias ero7 AR fhd avi ey fear 1y ? (1)

In which year was the Indian Wildlife Protection Act implemented?

X) €Ay UuOT ¥ HIHG R R Y9I ST § 7 6eY § 9qrgy | (1)

What are the effects of noise pollution on humans? Explain briefly.

Yug — ¢§
Section - B

TIRTHD U © (IR Treq HHT o9 50 Ieq)
Short answer type questions: (Answer word limit approx: 50 words)

ATSHT HHH IR qAT T ? (2)
Why did Simon commission come to India?

U GBI T 9RA H Igale & [Gbrd H a1 ANar & ?

(@1% <1 fasg foRaw) ()

What contribution did print culture make to the growth of nationalism in India?

(Write any two points)

A B ARER R wEd R ? BE @ ad AR )
Why is power sharing important ? Give any two agruments.

fp=al a1 Uraer=i &1 f7p dR S 9RA &1 &9 fFRueT g 991 & ? 2)
Mention any two constitutional provision that make India a secular state?
RTGTHId Gell H GER @ Big al [d7gall bl Jeold B 2 2)
Mention any two points of reform in political parties?

AThda BT Bl ol Mfid ITARAT Ia1s | (2)

Explain any two economic achievements of Democracy.



10)

11)

12)

13)

14)

15)

16)

e faerd & forg @i weayol 87 (2)

Why is sustainability important for development?

facel @R & SETRERT W MY FAT FEHIA § 7 (2)
What do you understand by liberalisation of foreign trade?
JUHIFAT GReETT A9 1986 @ AT & STHA T TSl ? (2)

Why was there a need for the enactment of consumer protection Act 19867
UBTS! &A1 H HaT JURG Bl AHAM & oIy FIT Had IoM A2y ? 2)

What steps can be taken to control soil erosion in the hilly areas?

THGT qATRI QI & P &I dAed ISy ? )
Mention any two goals of 'Narmada Bachao Andolan'?

I HEM H ¥ ulRagd &l f[der vd fRaR afde 9 RArey yadg e H &H
3N & | BROT qarsy | )
The development and expansion of rail transport has been more in the northern

plains and less in the Himalayan mountain region. Give reason ?

Yls — 9

Section-C

e IR U9 (STR Ieq AT ST 100 I0eR)

Long answer type questions: (Answer word limit approx: 100 words)

a1ge B W D Ry Suad Wi TRRefRET BT qo B 2 )
Describe the Geographical conditions required for the growth of rice?

31qd1 / Or
T AT HIY Bl FHC U SHD! THT FHAT gd18Y 2

While explaining intensive subsistence farming, explain its main problems.



17)

18)

19)

1929 @1 HETHA! BT FH §U SHD &l BRI BT Il DIfoy ? (3)
While explaining the great despression of 1929, mention its two reasons?

31dr / Or
R ver &1 sl W &xd U edr ¥ Ry M f[Aavvll & MR W 39
gTal & 9N H 9dgy ?
While explaining the meaning of the indentured system, explain its condition on

the basis of the details given in the chapter.

Y e &1 Y fAeIvdrei &1 9uiF Iy | (3)
Describe the main features of the Federal System?

31dr / Or
1992 & WU FUEA & USdl AR 918 & WY AR & Agdqol AaRi Bl
g ?

Explain the important differences in local governance before and after the

constitutional amendment of 1992.

RISTTRI F F7 3AMAYTT & 2 RISTRI & & IHRI BT Seold DIy | (3)

What is meant by unemployment? Mention two types of unemployment.
3797dT1 / Or
ATdSIe &adb a1 ol &3® | R HIfog ?

Difference between public sector and private sector.




yls — §
Section-D
ME=TcA® Yo @ (ITR Ieq AT I THIT 200—250 9Me3)
Essay type questions: (Answer word limit approx: 200-250 words)

20) fr=faRad w fewft foRag ? (4)

1. o A & |

2. a1 & BRI
Write a note on the following?

1. Demerits of Barter

2. Function of Money

31erdT1 / Or
A W 0 R S © ¢ IRA W JAUEIRG &Fd H 9Rg & HaY IR
PR |
What do you understand by creditability? Explain in briefly credit in the formal
sector in India.
21) WIARI Hifd & ggand wi § I gaerdl & IR | quid HIfY | (4)

Describe in detail the changes that took place in France after the French

revolution?
31erdr / Or
e 9 Igare &1 g oY JRIY & o | fhd ydR e o ?
qUIe IR |
Describe how the history of nationalism in Britain was different from that of the

rest of Europe ?



22)

g BT SR & W 7EE H Y —
Write the answer in the given map:-

fed T 9RT & @ qFRE 4 iR e @il B sifdd S| (4)

3) RIRIeA q) T
) R T) wAdel
Mark the following Coal mines in the given outline map of India ?
A) Singarauli B) Ranigan;
C) Singareni D) Neyveli
3rar/ OR

f ™ 9Rd & @ "Efem # fEfafaa euifds Soit w9 Al @ sifed
HIRTY |
3) RRT q) e
W) DoydhH T) TIRIYR
Mark the following nuclear power plants in the given outline map of India?
A) Naraura B) Rawatbhata
C) Kalpakkam D) Tarapur



